NN Classifier. No repeated k-cv. 2-DB structure
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Figure 1: Prediction Error
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Figure 3: Prediction Error Standar Deviation
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Figure 5: Expected Prediction Error



bias

bias

-0.005 0.000 0.005

-0.010

-0.020 -0.015 -0.010 -0.005  0.000

-0.025

= N
s 4 \
S N

= \

- AT ° .
8 4
S

e g
————— kS
=
g
g 4
— k=2 T
- k5

o
g
S -
T

T T T T T T T T

1% 5% 10% 25% 1% 5% 10% 25%

sample size sample size

(a) C=2 (b) C=3

bias
0.

-0.01

-0.02

5% 10% 25% 1% 5% 10% 25%

sample size sample size

(c) C=4 (d) C=5

Figure 6: Expected Prediction Bias



